Page |4

Lesson 1: Solving First- and Second-Degree Trigonometric Equations

You have already explored solving trig equations in both degrees and radians. This
lesson will expand on the concepts you learned in Chapter 6 Part 1.

Example 1 (Review of Chapter 6):
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When solving a first-degree trig equation, isolate the trig function so that the equation
is in the form sin@ = a, cos 8 = q, or tan @ = a, where a is a constant. Give exact
solutions wherever possible.
Example 2: Determine Exact Roots of a Trigonometric Equation
a) Solve the equation V2 sinx — 3 = —2 for|0° <x< 360°
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Example 3: Determining Approximate Roqts of a Trigonometric Equation

2) Solve the equation 5 secx — 4 = 8 for[—180° < x < 180°,) [-/%0°0] U [0, |z
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There are an infinite number of solutions to any trigonometric equation that has
solutions — writing ALL of the solutions is known as th{ggneral solution”.)

Example 4: Determining the General Solution of a Trigonometric Equation

a) Solve the equation cotx +v3 = 0 for[0 < )
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b) Solve the equation 7sinf —2 = 4sinf — 1.
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